MERCURY [40 Carb [3 CYL)I[4-STROKE])
Serial Mbr Range: 18227000 THRLU 18344306 [USA)

2668

¥ Ciniveshaft Houzing[Long)

Ref |Clazs|Part

Description

Qt Comment

2 §25220T05| ExHAUST PIPE 1
3 10 524453110/ SCREW, (M8 » 110] 5
4 10 BE9605 45| SCREW, (M8 » 45) 5
5 520615 1|DRAIN PLUG 1
E 27 B2B316|GASKET 1
7 526276 | BUMPER: 2
5 5 5288170071 | GROMMET 7
g 1E £23954|STUD. [M10 = 50) 1
10 12 BEGT74[WASHER, (406 7504105 |1
1 1 407 40[NUT, (M10] 1
12 7 553551007 |'WATER TUBE 1
13 ] §28529|GUIDE 7
14 526706 BUMPER 1
15 42341001 [SEAL, ‘Water Tube 1
1E B54471|FLATE 1
17 10 19933 75 SCREW, (M10 « 25) 1
15 e BOZ25E|CAP 7
19 54 163117 |CABLE TIE, (5.00 Inches) 1
20 2 13035002[FITTING 1
] 23 513745 SPACER 1
22 43585 COUPLING 1
i i EF5E23|BUSHING 7
24 12 45176 WASHER, (453 % 012 105 |2
5 1 40740 NOT. (M10] z




